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Run 6055 mpswise, BCM: All
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Enilries: 421092

Mean: 1253596 +/- 0.0743

Sid Dev: 48,2615 +- 00625
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Run 6055 mpswise, lasPow: All Run 6055 mpswise, lasPow: Beam OFF

10
160 — Entries: 421882 25000 __ _ Entries: 43077
[ Mean: 1069.7464 +- 15212 B Mean: TE4.B114 +- 46735
140 — |
E Shd Dev: 1053.0331 +- 1.1454 20000 — Shd Dew: 1024.7378 45 3.3047
120 — _
100— 15000 |—
80— u
sob | 10000 —
40— L]
u 5000 —
20 -
,D_|||||||||||||.—|—l"—---||||||-|||| D_|||||||||||||||||||||||-n||
0 500 1000 1500 2000 0 500 1000 1500 2000
cavPowerCalibrated cavPowerCalibrated
Run 6055, mpswise, lasPow: Beam ON, Laser ON Run 6055, mpswise, lasPow: Beam ON, Laser OFF
10" %10
| Entries: 176676 B il Entries: 165332
B M 5T BENDY - 02450 12':} N L] 12,3905 .- 00274
1GD— A = - =an: N Hl=
B Std Dev- 104.5602 +- 01768 - Sid Dev: 11,1318 4/ 00184
B 100 —
BO— |
| Eﬂ_—
60— B
B 60—
40— u
o 40— _
Eﬂ_— anl—
D_l|||-.J..|...|.LJ_||J_J.|||||||||||||||||||||||||||ﬂ||||| 'D_"I""l""l" (I N S TN N TN NN NN NN N M L1
—20 10 0 10 20

1400 1500 1800 1700 1800 1800 2000 2100 2200 2300 30
cavPowerCalibrated cavPowerCalibrated



Run 6055 mpswise, bpmAx: All Run 6055 mpswise, bpmAx: Beam OFF
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Run 6055 mpswise, bpmAy: Beam OFF
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Run 6055 mpswise, bpmBx: All Run 6055 mpswise, bpmBx: Beam OFF
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Run 6055 mpswise, bpmBy: All Run 6055 mpswise, bpmBy: Beam OFF
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Run 6055 mpswise, beam ON, laser ON Run 6055 mpswise, beam ON, laser OFF
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Run 6055 mpswise, beam ON, laser ON Run 6055 mpswise, beam ON, laser OFF
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Run 6055 mpswise, beam ON, laser ON Run 6055 mpswise, beam ON, laser OFF
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Run 6055 mpswise, beam ON, laser ON
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Run 6055 mpswise, beam OFF, laser ON Run 6055 mpswise, beam OFF, laser OFF
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Run 6055 mpswise, beam ON, laser ON Run 6055 mpswise, beam ON, laser OFF
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Run 6055 mpswise, beam OFF, laser ON Run 6055 mpswise, beam OFF, laser OFF
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Run 6055 mpswise, beam ON, laser ON
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Run 6055 mpswise, beam ON, laser OFF
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